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Mohit.. 2 days ago
®%’ Thank-you Sir for this Magical And Wonderful Class Session

And
My Answer For today's Homewaork is-
Option D=30cm...

Read more
5 GP  REPLY

» View reply from Mahendras : Online Videos For Govt. Exams

Gautam 2 days ago
Homework answer== D==30 cm.
Thank-you Sir.. &

Today very Awesome Class.. &
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()4 HW - The ratio of the length of the parallel sides of a trapezium is 3: 2. The
shortest distance between them is 15 cm. If the area of the trapezium is 450
cm.”, the semi-sum of the length of the parallel sides is
Teh AW TATH ehl THT=R TSI H STTUTA 3: 2 81 3ok el hl =IAaH i 15
|, 71 AT THART AU BT AAHE 450 T2 7, T THT-R TS T THITS T

s AT FATE ?

(A) 7.5 cm. / 9T,
(B) 18 cm. / 9T,
(C) 21 cm. / G,
(D) 30 cm. / QHT.
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Q:-1. Find the lowest common multiple of 24,36 and 40?
3IQT: 24, 36 TAT 40 HT TIAH THTIAAER ATA T 2
(a) 240

(b) 260
(c) 360
(d) 320
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Q:-2-On purchase of 12 articles a shopkeeper gives 3 articles absolutely

free. Find equivalent discount percent.
12 STEGAT T T W Ueh SR 3 SEdC fareeher T a1 81 9Hded 92
TTA9Td ST shiTeT|

(A) 16.67 %
(B) 20 %
(C) 22.5 %
(D) 25 %
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Q:-3.. A sum of Rs. 1400 is divided amongst A, B, C and D such that A's
share : B's share = B's share : C's share = C's share : D's share = 3/4.

Then how much is C's share?

. 1400 hT eAARTRT A, B, C 3R D H 39 YR 1T 74T h A &1 26T
B ot fexar = B 1 f&wan : € ot fewan = ¢ w1 e : D @ T = 342 A0

C o fexat ferar 22
(A) 345
(B) 384
(C) 411
(D) 520
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Then how much is C's share?

. 1400 hT eAARTRT A, B, C 3R D H 39 YR 1T 74T h A &1 26T
B ot fexar = B 1 f&wan : € ot fewan = ¢ w1 e : D @ T = 342 A0

C o1 f2ear feraar 22
(A) 345

(C) 411
(D) 520




. A train travelling at 36 km./hr. crosses a platform in 20 seconds and a

man standing on the platform in 10 seconds. What is the length of the platform

in meters?

Tk S 36 ToRHT. /5. ST =ITeT | ST g2 Ueh TICWhIH <Rl 20 HeRUS H IR Shdl & 3R
TAHTH UX W Ueh Stk ohi 10 HhUS H UR HIdT § A1 TICHTH <hl oTealTg WY, W /T

82

(A) 100 meter/dieX
(B) 120 meter/HieX
(C) 96 meter/d1eX
(D) 80 meter/dTeX
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The present age of a father is 3 years more than three time the age of his

son. Three years hence, father’s age will be 10 years more than twice the age of

the son. The father’s present age is?

fOraT <Y SAHT AT 38k I hT ST T a1 AT 6 3 TN ATereh 5. i 98 o1g
TOaT BT 1T 3%k I <At 31T o T | 10 9 2Aferes 2. At forar sht s oy e

€7

(A) 33 years
(B) 39 years
(C) 45 years
(D) 40 years
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son. Three years hence, father’s age will be 10 years more than twice the age of
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Q:- 6- What is the median of the marks scored by students in an exam?
Uk URISTT W BT ST UTH 37ehi hl HTedh T 82
73,57,49,45,86,89,41,81,83,86,85

(A) 83

(B) 73
(C) 81
(D) 86
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()4 7- Rs.500 was invested at 12 % per annum simple interest and a certain

sum of money invested at 10% per annum simple interest. If the sum of the

interests on both the sums after 4 years is Rs.480, find the later sum of money?

500 % <hT TIFIT 12% <F STh ATLROT ST U AT T AT 7 SR F TR AHRT ot
10% <R ATk TTUT SITST U {4397 <hl ATAT 2. ST WIDT o ST kT AT 4 99

TG 480 T T. AT TG FATAT TTIT AT 412
(A) Rs.450
(B) Rs.750
(C) Rs.600
(D) Rs.550




Q:- 7- Rs.500 was invested at 12 % per annum simple interest and a certain sum of money

invested at 10% per annum simple interest. If the sum of the interests on both the sums

after 4 years is Rs.480, find the later sum of money?

500 & <hT T 12% o ATTSeh ATERUT ST UX FareT bt AT § 3R o iR vt «ff 10% 6
T eh TATROT AT WX FAar9T BT ATt 8. ST [T h AT ohT IART 4 TN A1 480 T 2. AT 1S

JATAT ST /T o2
(A) Rs.450
(B) Rs.750

(D) Rs.550




Q:- 8- Spheres A and B have their radii 40cm and 10 cm respectively. Ratio of

surface area of A to the surface area of B is:

Y T <ht T SRAST: 40 AT 31X 10 THY § A 377k THIT SAHC ol ST T
FT?

(A)1: 16
(B)4:1
O 1:4
(D) 16: 1
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79 - A contractor undertakes to make a road in 40 days and employs 25
men. After 24 days, he finds that only one- third of the road in made. How

many extra men should he employ so that he is able to complete the work 4 days

earlier?

Ueh Sohal Uk TS hi 40 T&AT H AT T SR oidT @ STaH 98 25 SATSHT shTH U1

TTCT 2. 24 o7 12 399 <@ i ven- TaEte U € a9 ute g, o 98 R streHt 3R
T <hl ShTH 4 T2 Tge Taw 8t S

(A) 100

(B) 60

(C) 50

(D) 75
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Q:-10- The price of 14 m of cloth is Rs. 224 Find the cost per meter.
14 H12T THUS hl 1A 224 T T 9T HIeT THUS hi shiAd 19 hITSAN
(A) 16

(B) 17
(C) 18
(D) 19
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Q:-11- The product of two consecutive even number is 5328. Find the higher

of them.

3N THANTA T HEATSAT T U 5328 Bl 3TH | TSt ST AT hlT|
(A) 70

(B) 76

(C) 74

(D) 72
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Q:-11- The product of two consecutive even number is 5328. Find the higher

of them.

3N SHARTA TH TEATST T TUFEE 5328 Bl 390 € 9T T&AT JTq i)
(A) 70
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Ques-12- 12 men can complete a work in 10 days. 20 women can
complete the same work in 12 days. 8 men and 4 women started working
and after 9 days 10 more women joined them. How many days will they
now take to complete the remaining work?

12 SATEHT Teh hH1H <hT 10 AT H 00 S Eehel g1 20 TR IHT R 6l 12
T3 o o7 T Aehelt 1 8 STTEHT 311 4 ST ohTH 9T htdl § 3T 9 ot o6

1S 3 10 3R 3R TS ATt ¢ a1 o7 o Fora= faat # 9ie s ot oir o
w?

(A) 3 days/leq

(B) 6 days/fe=

(O) 2 daysf%?

(D) 5 days/fleq
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@\ Dues- wo trains are travelling in the same directions at 22. mh and
7.5 km/h respectively. The faster train crosses a man sitting in the slower
train in 18 sec. What is the length of the faster train?3<T: aﬁ%rao'rrsr 22.5
ferwt / eieT 3T 7.5 fomuit / die <ht 7t & ek €t o & I s W&t § | osft & Tret
Tl 3, efeft 3 % &% U orraet B 18 Aehe H U A B | Aoh A ey ATeht |

o <Rl ST T 82

INNE
(B) 150
(C) 100
(D) 50
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@\ Dues- wo trains are travelling in the same directions at 22. mh and
7.5 km/h respectively. The faster train crosses a man sitting in the slower
train in 18 sec. What is the length of the faster train?3<T: aﬁ%rao'rrsr 22.5
feRTT / dieT 3R 7.5 TRt / =i <t TTTa & ek &Y foom & amam o T § | asit & e
TRt 3, e 39 8 5% T STTEw oy 18 ehe f TR A § | A G werr At |
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(B) 150
(C) 100
(D) 50
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0 ues- A shopkeeper marks an article at Rs 60 and sells it at a discount of

15%. He also gives a gifts worth Rs 3. If he still makes 20% profit. Find the

cost price ?

Teh JohTHER 60 HUH W Teh oFEq W Sifehel SHTaT & 3R SH 15% hl P U st
21 I 3 & T SUTR I AT 21 ATG 77 31T ot 20% AT HHTAT 21 AT o AT

CILE L

(A) 51
(B) 40
(C) 54
(D) 45







